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Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions: 2x5=10
-1 26 dos Tea e ¢
a)  What is interest rate?
WS 21 eI b (A2

b)  What is the relation between investment and

interest rate?
NI CE EAGE TR S E
¢) What is Bond?
Aelq @0 6 (e
d) Whatdo you mean by 'portfolio diversification'?
‘oAberifers tafbw” wice 6 (e
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e) What is the relation between present value and
discount rate?
TE 6T 8 NI T A7 T A4 5 2
f)  What is spot rate?
~5{5gq TS [ (2
g) Mention the relationship between interest rate
and value of a Bond.
A 2[CaS T 8 I R N A=K Tl 5 |
h)  Mention the relation between discount rate and
time preference of money.
TR 2R 3R SR R AR W& TA=H(0
T 9 |
2. Answer any two questions: 5x2=10
@-CHIe 7o 2eas Ted wie
a) Explain the relation between portfolio
deversification and Risk.
oAiocifers abasael e Jfea 7=o:Fh i 4|
b)  What causes the yield curve to flatten?
5 PICEl AeIACaS ot TP FN0e] 2R AR 2
c¢) How do we define and measure risk?
< oo 6 @R 93k 7 wAl el w1 232
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d)

Consider an investor has an opportunity of
receiving Rs.1,000 and Rs.1,500 at the end of
first and second year respectively. Find out the
present value of the cash flows if the interest

rate is 5%.

GG [RFRGETIEFRE 22 @ fEel I20Ea (I AT
1000 '8 1500 Gi<sl @iffess sfeaisl wiiez | aw Jore 2
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Answer any two questions: 10x2=20

@-ie g6 eeas Ted vie ¢

a)

b)

d)
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How are risks of different assets related to each

other?

fRfCaaes Teitna e e 70150 Faeal 2
Describe the time preference for money.
SR AR Az 39 4|

How do you evaluate an investment project?
a3 fb R 2 ol SEniRe Fa?

Compare the merits and demerits of stocks and

bonds as an asset class.

WP 8 AdHATaT Wy TAeAm f7Iriea sffdl @k
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